
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

اضرب الكسور العشرية بالقوى السالبة للعدد عشرة

1868٫5 × 0.1 = ________ 2269٫6 × 0.0001 = ________

6069٫3 × 0.0001 = ________ 6806 × 0.001 = ________

7260٫9 × 0.1 = ________ 6411٫6 × 0.1 = ________

9871٫3 × 0.0001 = ________ 5905 × 0.1 = ________

2641٫5 × 0.0001 = ________ 1752٫5 × 0.0001 = ________

6909٫1 × 0.01 = ________ 8063٫3 × 0.0001 = ________

4567٫7 × 0.0001 = ________ 8147٫5 × 0.01 = ________

6322٫7 × 0.001 = ________ 4795٫1 × 0.001 = ________

9623٫2 × 0.0001 = ________ 7461٫4 × 0.0001 = ________

3195٫2 × 0.0001 = ________ 4864٫2 × 0.01 = ________
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

اضرب الكسور العشرية بالقوى السالبة للعدد عشرة

1868٫5 × 0.1 = 186.85 2269٫6 × 0.0001 = 0.22696

6069٫3 × 0.0001 = 0.60693 6806 × 0.001 = 6.806

7260٫9 × 0.1 = 726.09 6411٫6 × 0.1 = 641.16

9871٫3 × 0.0001 = 0.98713 5905 × 0.1 = 590.5

2641٫5 × 0.0001 = 0.26415 1752٫5 × 0.0001 = 0.17525

6909٫1 × 0.01 = 69.091 8063٫3 × 0.0001 = 0.80633

4567٫7 × 0.0001 = 0.45677 8147٫5 × 0.01 = 81.475

6322٫7 × 0.001 = 6.3227 4795٫1 × 0.001 = 4.7951

9623٫2 × 0.0001 = 0.96232 7461٫4 × 0.0001 = 0.74614

3195٫2 × 0.0001 = 0.31952 4864٫2 × 0.01 = 48.642
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